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@ AMTC 4 =2 (precedence) E 2J| - C A0

o1 AFXE &= 2 5} A (associativity)
on->. 17 left-to-right
- ++ 16 left-to-right
- ++ 1 ~-+ & *sizeof 15 right-to-left
(type) 14 right-to-left
*| % 13 left-to-right
+ - 12 left-to-right
<< >> 11 left-to-right
>>=< <= 10 left-to-right
=== 9 left-to-right
& 8 left-to-right
A 7 left-to-right
| 6 left-to-right
&& 5 left-to-right
| 4 left-to-right
?: 3 right-to-left
=+ = 2= YP=<<=>>=&="=|= 2 right-to-left
, 1 left-to-right
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(@/(b-c+d)*(e-a)*c
alb-c+d*e-a*c

2+3*4 234*+
a*b+5 ab*5+
1+2)*7 12+7%*
a*b/c ab*c/

abc-d+/ea-*c*
ab/c—-de*+ac*-
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(Z2DeS) - HAX Al A Y2
HAXPII LUHECAS M =R HIRE E& HALXIS push(), pop() 2A
AMK SE=RE 2JHA 2 Bt
— in—stack precedencel(isp), incoming precedence(icp)
top —
/
stack
H| ol token
“@In-stack precedence” “@In-comming precedence”
Aelof Qe GAlRle M@ olzdgl m AMKtel fM=e

If (isp[stack[top]] < icpl[token])
[* LSEE HAXIDF ABHO| OH 2 HAKIEC L= 2
-> push()

(1

) */

If (isp[stack[top]] > icp[token])
[* LSS HAAXIDIE AEHO| O 2| HALKIECH 2L 22 ER) */
—> pop() until (isp[stack[top]] < icp[token])

<C ANs+x g=2>
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#define MAX_STACK SIZE 100
/* maximum stack size */

#define MAX_EXPR_SIZE 100

*/

M

/* max size of expression */

/* EHE EIQ! precedence M */
typedef enum {lparen, rparen, plus, minus,
times, divide, mode, eos, operand

} precedence;
precedence stack[MAX_STACK SIZE];/* AEHMoA */
char expr[MAX_EXPR_SIZE]; /* 2= EXE */

static int i1sp[] = {0,19,12,12,13,13,13,0};
static int i1cp[] = {20,19,12,12,13,13,13,0};

<CXNs+x g=2>
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/* Ad8olM EES Hol=sols ZE2OY */

precedence get_token(char *symbol, Int *n) {
*symbol = expr[(*n)++];
switch(*symbol) {

SEElE = case “(“: return lparen;

case “)’: return rparen;

case “+’: return plus;

case “-7: return minus;

case “/’: return divide;

case “*’: return times;

case “%’: return mod;

case “ “: return eos;

default: return operand;




postfix

1>

rir
|H
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/> S9IH7|5 FHEZ|IZ HHE
void postfix(void) {

char symbol;
precedence token;
int n = 0;

int top = 0;
stack[0] = eos;

for(token = get_token(&symbol, &n); token != eos;

token = get token(&symbol, &n)) {
i1T(token == operand) printf(“%c”, symbol);
else 1T(token == rparen) {
while(stack[top] != Iparen)
print_token(pop());
popQ);

else {
while(isp[stack[top]] >= i1cp[token])
print_token(pop());
push(token) ;

}

+

while((token = pop()) !'= eos)
print_token(token);

printf(*\n”);

<CXNs+x g=2>
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o) 6273 -42%*+

g
EZ AEHO ek top B2 gt
- 0
o ==
E2 AEBHO| B3Ok top H=2| gt
4 4 1
—~
E2 AEHO| CJOF top B =9| gt
2 4 2 2
41—
E2 AEHO| CJOF top B1=9| gt
* 8 1
L
E2 AEBHO| B3Ok top H=2| gt
+ 0
<CXgxX e >
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(2)33/4-56*+34x*-

12+ 7 %
) 4 ) 4 ) e w
2 7
1 1 ] 3
(eos) (eos) (eos) (eos)
— — —

21
(eos)

(eos)
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get_token() &=

[ FAMOIM EZE 24 e T2 «+/
eval()

{

if the token is operand

convert to number and push to the stack
otherwise

1) pop two operands from the stack
2) perform the specified operation
3) push the result back on the stack

<CAXg+=x g
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eval gt

/< ZLIEI|AS AMete TEa */

int eval (void)

{
precedence token;
char symbol;
int opl, op2;
int n = 0;
int top = -1;
token = get_token(&symbol, &n);
while (token != eos) {
1T(token == operand)
push(symbol-"07);
else {
op2 = pop(Q);
opl = popQ);
switch(token) {
case plus: push(opl + op2);
break;
GIEN

<CXNs+x g=2>

24



eval &

A
e

case minus: push(opl - op2);

break;
case times: push(opl * op2);

break;

case divide: push(opl 7/ op2);

break;
case mod: push(opl % op2);
+
+
token = get token(&symbol, &n);

+
return pop(Q);

<CXNs+x g=2>
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Review

MM
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ol == S
A 22 2X0|CHFirst In Last Out). CHA
LHel= R Z0|CH(Last in First Out, LI

ofeldl AT SHE EollAgt

@ 7 £k 2[2Eo] SEHel HElZ £
2O k. é.‘?:!ﬂ A= M2 t'._FEHZ—"%OﬂH dojLt= Zdo| AE{D}
EFEEF =0 FI/iel o2 Aol Bt X W2ls Xo| w=z

Ui HHX EF AlZto| HA Lj2|= F+=Oo|ct(First In First
Out, FIFO).
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